
Principles of Real Estate

Solutions to Quiz 2

1.
Compute the lender’s expected yield on a $150,000, 8.25% annual interest rate, 30 year conventional (monthly payment) mortgage having a 1% loan origination fee, two discount points and a 1% prepayment penalty if the lender expects the borrower to prepay at the end of four years. 
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Fee
=
0.01 ( $150,000
=
$ 1,500.00

Points
=
0.02 ( $150,000
=
$ 3,000.00

Net loan amount 
=    $150,000 - $ 1,500 - $ 3,000  
=       $145,500.00

PP60
=
0.01 ( $144,582.42
=
$ 1,445.82

FV60
=   $144,582.42  +  $ 1,445.82
=       $146,028.24

Yield:


[image: image2.wmf]%

37

.

9

;

)

12

1

(

24

.

028

,

146

$

)

12

1

(

1

90

.

126

,

1

$

500

,

145

$

60

48

1

=

+

+

+

=

å

=

d

d

d

t

t



[image: image3.wmf]42

.

582

,

144

$

)

12

0825

.

0

1

(

1

90

.

126

,

1

$

312

1

48

=

+

=

å

=

t

t

MB


2. How much interest is paid during the third year of a $125,000, 7.75% annual interest rate, 30 year, constant monthly payment mortgage?
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Annual debt service  =  12  ( PMT  =  12 ( $895.52  



=  $10,746.24



Principal reduction  =  MB24 – MB36  =  $ 122,718.31 - $ 121,437.89    

=    $1,280.42



Interest  = Annual debt service – Principal reduction  =  $10,746.24  -  1,280.42  
=    $9,465.82
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